

J Question # 1

The corresponding formula of logic is

$$\sim(p \wedge q) = \sim p \vee \sim q$$

p	q	$\sim p$	$\sim q$	$p \wedge q$	$\sim(p \wedge q)$	$\sim p \vee \sim q$
T	T	F	F	T	F	F
T	F	F	T	F	T	T
F	T	T	F	F	T	T
F	F	T	T	F	T	T

The last two columns of the above table shows that $\sim(p \wedge q) = \sim p \vee \sim q$ and hence $(A \cap B)' = A' \cup B'$.

H Question # 2

The corresponding formula of logic is

$$(p \vee q) \vee r = p \vee (q \vee r)$$

p	q	r	$p \vee q$	$q \vee r$	$(p \vee q) \vee r$	$p \vee (q \vee r)$
T	T	T	T	T	T	T
T	T	F	T	T	T	T
T	F	T	T	T	T	T
T	F	F	T	F	T	T
F	T	T	T	T	T	T
F	T	F	T	T	T	T
F	F	T	F	T	T	T
F	F	F	F	F	F	F

The last two columns of the above table shows that $(p \vee q) \vee r = p \vee (q \vee r)$ and hence $(A \cup B) \cup C = A \cup (B \cup C)$.

D Question # 3

The corresponding formula of logic is

$$(p \wedge q) \wedge r = p \wedge (q \wedge r)$$

p	q	r	$p \wedge q$	$q \wedge r$	$(p \wedge q) \wedge r$	$p \wedge (q \wedge r)$
T	T	T	T	T	T	T
T	T	F	T	F	F	F
T	F	T	F	F	F	F
T	F	F	F	F	F	F
F	T	T	F	T	F	F
F	T	F	F	F	F	F
F	F	T	F	F	F	F
F	F	F	F	F	F	F

The last two columns of the above table shows that $(p \wedge q) \wedge r = p \wedge (q \wedge r)$ and hence $(A \cap B) \cap C = A \cap (B \cap C)$.

B Question # 4

$$A \cup (B \cap C) = (A \cup B) \cap (A \cup C)$$

The corresponding formula of logic is

$$p \vee (q \wedge r) = (p \vee q) \wedge (p \vee r)$$

p	q	r	$q \wedge r$	$p \vee q$	$p \vee r$	$p \vee (q \wedge r)$	$(p \vee q) \wedge (p \vee r)$
T	T	T	T	T	T	T	T
T	T	F	F	T	T	T	T
T	F	T	F	T	T	T	T
T	F	F	F	T	T	T	T
F	T	T	T	T	T	T	T
F	T	F	F	T	F	F	F
F	F	T	F	F	T	F	F
F	F	F	F	F	F	F	F

The last two columns of the above table shows that $p \vee (q \wedge r) = (p \vee q) \wedge (p \vee r)$ and hence $A \cup (B \cap C) = (A \cup B) \cap (A \cup C)$.

Made by: **Atiq ur Rehman** (atiq@mathcity.org), <http://www.mathcity.org>

These notes are available online at
<http://www.mathcity.org/fsc>
 Submit error/mistake at
<http://www.mathcity.org/error>

Error Analyst

Waiting for someone.